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CMS

−e+ e→Z 

Data

/n.d.f. = 0.79, p-value = 72 %2χ : 1f

/n.d.f. = 0.8, p-value = 70 %2χ : 2f

/n.d.f. = 0.76, p-value = 74 %2χ : 3f
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Simulation

/n.d.f. = 0.71, p-value = 83 %2χ : 1f

/n.d.f. = 0.57, p-value = 94 %2χ : 2f

/n.d.f. = 0.57, p-value = 93 %2χ : 3f
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CMS

−µ+µ →Z 

Data

/n.d.f. = 0.85, p-value = 64 %2χ : 1f

/n.d.f. = 0.74, p-value = 77 %2χ : 2f

/n.d.f. = 0.76, p-value = 75 %2χ : 3f
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Simulation
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Simulation

/n.d.f. = 0.83, p-value = 68 %2χ : 1f

/n.d.f. = 0.79, p-value = 72 %2χ : 2f

/n.d.f. = 0.82, p-value = 68 %2χ : 3f
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CMS
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Data

/n.d.f. = 4.34, p-value = 0 %2χ : 1f

/n.d.f. = 1.41, p-value = 9 %2χ : 2f

/n.d.f. = 1.23, p-value = 20 %2χ : 3f
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Simulation

/n.d.f. = 1.31, p-value = 14 %2χ : 1f

/n.d.f. = 1.17, p-value = 26 %2χ : 2f

/n.d.f. = 1.13, p-value = 30 %2χ : 3f
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